In-class Lecture 1 - Physical Biology Exam - Part 1

Tuesday, January 18, 2022 10:34 AM

Question 1: Which is bigger, protein or
the mRNA coding for it?
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Question 2: Who is more powerful on
a per kg basis, Hernan or the Sun? By
what factor?
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Sunlight at the top of the atmosphere
Radiation at sea level

10 m below ocean surface
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Question 4: The genome of Vibrio cholera is
4.03 Mbp. How many genes does it contain?
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Question 5: The human genome is 3 Gbp.
How many genes does it contain?

Question 6: What length book would DNA
polymerase (including proofreading) copy
without an error? |/, o nl

.

Question 7: Where is the most biomass
harbored?



